

( )

: /

( )

...

.

.

.

....

$x$

$(x, y)$

$y$

(Pearson)

$(x, y)$

(Spearman )

.

-

$y$

.

.

$x$

:

$(x_1, y_1), (x_2, y_2), \dots, (x_n, y_n)$

$$r = \frac{\sum xy - \frac{(\sum x)(\sum y)}{n}}{\sqrt{(\sum x^2 - \frac{(\sum x)^2}{n})(\sum y^2 - \frac{(\sum y)^2}{n})}}$$

(1)

( r )

( - )

:( )

x	13	9	19	15	11	8	16	11
y	15	7	17	15	10	9	14	10

y x = :

x	y	- 10 x= x	-10 y= y	y x	x <sup>2</sup>	y <sup>2</sup>
13	15	3	5	15	9	25
9	7	-1	-3	3	1	9
19	17	9	7	63	81	49
15	15	5	5	25	25	25
11	10	1	0	0	1	0
8	9	-2	-1	2	4	1
16	14	6	4	24	36	16
11	10	1	0	0	1	0
		22	17	132	158	125

$$r = \frac{\sum xy - \frac{(\sum x)(\sum y)}{n}}{\sqrt{(\sum x^2 - \frac{(\sum x)^2}{n})(\sum y^2 - \frac{(\sum y)^2}{n})}}$$

$$r = \frac{132 - \frac{(22 \times 17)}{8}}{\sqrt{(158 - \frac{(22)^2}{8})(125 - \frac{(17)^2}{8})}}$$

r = 0.93

( )

( )

-

(x, y)

(x, y)

$$r_s = 1 - \frac{6 \sum d^2}{n(n^2 - 1)}, \quad (2)$$

d (x, y)

n

r<sub>s</sub>

(x, y)

:( )

x	A	C	C	C	B	D
y	B	B	D	C	A	E

x	y	a = x	b = y	d = a - b	d <sup>2</sup>
A	B	6	4.5	1.5	2.25
C	B	3	4.5	-1.5	2.25
C	D	3	2	1	1
C	C	3	3	0	0
B	A	5	6	-1	1
D	E	1	1	0	0
					6.5

$$r_s = 1 - \frac{6 \sum d^2}{n(n^2 - 1)}$$

$$r_s = 1 - \frac{6 \times 6.5}{6(36 - 1)}$$

$$r_s = 1 - 0.186$$

$$r_s = 0.814$$

.

-

. . . . .

:

-

C.C

:

/		
	A	B
	C	D

: C.C

$$C.C = \frac{AD - BC}{AD + BC},$$

(3)

:

:( )

:

	5	5
	3	4

:

$$C.C = \frac{AD - BC}{AD + BC}$$

$$C.C = \frac{(5 \times 4) - (3 \times 5)}{(5 \times 4) + (3 \times 5)}$$

$$C.C = 0.14$$

X

.C

s

Y

r

:

	Y				
X	$Y_1$	$Y_2$	...	$Y_s$	
$X_1$	$f_{11}$	$f_{12}$	...	$f_{1s}$	$f_{1.}$
$X_2$	$f_{21}$	$f_{22}$	...	$f_{2s}$	$f_{2.}$
$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$
$X_r$	$f_{r1}$	$f_{r2}$	...	$f_{rs}$	$f_{r.}$
	$f_{.1}$	$f_{.2}$	...	$f_{.s}$	$f_{..}$

: C B

$$C = \sqrt{\frac{B-1}{B}}, \quad (4)$$

:

$$B = \frac{(f_{11})^2}{f_{.1}f_{1.}} + \frac{(f_{12})^2}{f_{.2}f_{1.}} + \dots + \frac{(f_{rs})^2}{f_{.s}f_{r.}}$$

:

:( )

:

Y X			
	6	4	10
	7	2	9
	6	5	11
	19	11	30

C

: B :

$$B = \frac{6^2}{19 \times 10} + \frac{7^2}{19 \times 9} + \frac{6^2}{19 \times 11} + \frac{4^2}{11 \times 10} + \frac{2^2}{11 \times 9} + \frac{5^2}{11 \times 11}$$

$$B = 1.05$$

: C

$$C = \sqrt{\frac{B-1}{B}}$$

$$C = \sqrt{\frac{1.05-1}{1.05}}$$

$$C = 0.22$$

(x, y)

( - )

x y x y

y = a + bx, (5)

a = y-bar - b x-bar, (6)

b = (sum xy - (sum x)(sum y) / n) / (sum x^2 - (sum x)^2 / n), (7)

( ) x y : ( )

Table with 5 columns: x, y, xy, x^2, y^2. Rows contain data points and a final row with totals: 97, 102, 1322, 1265, 1398.

b = (sum xy - (sum x)(sum y) / n) / (sum x^2 - (sum x)^2 / n)

( )

: /

---

$$b = \frac{1322 - \frac{97 \times 102}{8}}{1265 - \frac{(97)^2}{8}} = 0.96$$

$$a = \bar{y} - b\bar{x}$$

$$a = \frac{102}{8} - 0.96\left(\frac{97}{8}\right)$$

$$a = 1.11$$

: x y

$$y = 1.11 + 0.96x$$

---

:

<i>x</i>	3	2	1	1	5	6	1	4
<i>y</i>	31	44	60	70	18	17	71	29

( ) ( )

. *x* *y*

*y* *x*

<i>x</i>	56	66	42	44	38	27	39	40
<i>y</i>	31	38	27	22	19	25	20	28

. *x* *y*

	A	B	D	E	C	D	E	B
	A	C	E	D	C	D	E	B